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END OF TERM 2 EXAM
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c) Focal plane V : (1mk)
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2. State the ampere’s swimming rule. (1mk)
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3. Briefly describe any two applications of stability in real life situations. (2mks)
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3. An oil drop has a volume o 14mm® when it is placed on the surface of some water; it spreads out to

form a circular patch of area 6.4* 10" mm’

a) Calculate the thickness of the oil film. -  (2mks)
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7. The stability of a body can be increased by increasing the base area and lowering its Centre of gravity.
State one way of lowering its Centre of gravity.
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8. Explain any two applications of concave mirrors in real life. {2mks)
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9. You are provided with two iron bars A and B one is magnetized and the other is not. Explain how you
would identify the magnetized bar. (2mks) S\e.mi ;
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oo s 10. lee a reason why attractlon in magnetlsm is not regarded asa rehab|e method of testmg for
e polanty (1mk} :

12. A convex mirror of focal length 18 cm produces an image on its axis, 6 cm away from the mirror.
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13. A concave mirror has a fogal length of 8cm. A real object of length 2cm is placed 12cm from the
mirror. Using a suitable scale, determine the position of the image and the height of the image.
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14. Sketch a Vernier caliper showing each of the following readings

a)6.13 cm. (2mks) M-S R = G-\ ewm .
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b) 2.14 cm. (2mks)

15. State two qualities of a liquid which can be used in an experiment to determine the size of a
molecule. (2mks)
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16. Determine the position of the object, if its image is formed 12 ¢cm from a convex mirror of focal
length 18 cm. | {2mks)
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17. calculate the pressure due to water experienced by a fish 20 m below the surface of the sea.( densnty
of water =1030kg/m?) % : 2 3 (3mks) -

19. Briefly diffe_fentiate between ‘magnetic and non- maénefic materials. (2mks)
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20. Why is repulsion the surest way of testing polarity of a magnet? - (1mk)
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21. What is the zero error in relation to Vernier calipers? (1mk)
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22. A weight of 50N is hanging at the end of a uniform metal rod. A pivot is placed at the Centre of the
rod is balanced by hanging a weight of 80N, 2 meters from the pivot. Calculate the length of the metal
rod. % (4mks)
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23. “Parallel forces can act in opposite direction.” Give two practical apphcatlons ofthis. | (2mks)
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24. The following readings were obtained in an experiment to verify Hook’s law using a spring.

. |Force(n) 0.5 15 25 3.5 ] 4.0 j S
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a) Plot a graph of force against extension. (Smks)

b) Determine the spring constant from the graph. (2mks)
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c) From your graph determine the force for extension of;

i) 0.112m (1mk)

2N

i) 0.111m i (1mk)
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d) State whether the spring obeys ohms law. (1mk)
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25. a) briefly explain what is meant by the following terms;
-i) Centre of gravrty ofan object.  1mk : ) =
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d) Dlscus any three practlcal apphcatlons of stabnllty 3mks
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